EAGRAROBREERT — 2 N— ABISH —F

202011148 (+) 3E4EE5H

| 6R EEEXLARI ZEZNK

B A
=]

) [EE] EE

‘ [R1%] & ‘ [RERBB] — | Z (%) 26000 B

[~&E%] 1% 7,600,000 ~ 27 :3,000,000H” ~ 337 :1,900,000H

4 7% 11,100,000 5 & :760,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. = . H o3 | EEEER 2:40.6 5-5-6-5 |36.0| 95.4 | 2 494 | KTTETE (i)
115/9lE—RART A * 55.0 (=) (-6) | AKHEF
R:Ayaizgr—X B:OYrq+> MESS
S HETF s 3 | JIXEA 2:40.9 6-6-4-5 |36.5| 92.6 | 7 470 | BRA— (FBR)
217|14| F7LT73I4TY [B] 55.0 (1 3/2) wo) | BER
L:FNT7z—"9) B:IF7ry—L HET77—L
N 4 3 | REES 2:41.1 2-2-1-1 | 37.2| 91.0 | 4 474 | KIEEAN (BR)
3 12|21 EITEZ ML 550 (4 1/4) o |EERE
RN—5—-2y T B:STT79Fa7)— HET77—L
A . o6 | BERE 2:41.1 11-11-8-8 | 36.1 | 90.5 | 6 478 | FIEHSEN (E#H)
4|8|15| T>UTIT X [B] 57.0 (7 E) w2 |.® HAL— 2 k-2
LT v TRy b BNy a2 T X HBET7—L
35 _ 44 | RHE 2:41.2 8-8-7-7 |36.3| 89.6 | 14 522 | DNEEAERL (i)
5|8[16| 7 1F 57.0 (172 e | HEHE
Ln—-ErYv— B:I714I J—YTr—LA
i S 43 | Rliss 2:41.3 8-9-4-3 |36.8| 88.8 | 5 460 | BEFE— GEA)
EH G ety 452.0 (7€) o | B prFoL-sy
L:ANT—"7J) B:A—-—IE1—I BRT7—L
S 47 | RER 2:41.3 3-3-3-2 [ 37.0| 89.0 | 10 436 | KIIRE ()
77|13 7 xER 4540 NF) © | W) ORTEGA
L:FA—TANT b BE-—Z2TEAK HES
5 = # 3 | FARHER 2:41.3 16-16-15-13| 35.7 | 88.4 | 3 464 | EKER (EH)
N - BEEENE=PFrS 55.0 7 6) Gy | W 5Ty k5575747
R:T—WRYy T BihyRIESS EvilLy RT7—L
S NS R 4 4 | SHEA 2:41.4 12-12-11-12| 36.0 | 87.5 | 8 434 | EHHBIL (EH)
9 3|Ya—->NnN7—=FK 55.0 (3/4) (1) | I
LK) =—L¥v—=— BITANIAY— TRIERYS
o= 4 3 | HEAA 2:41.4 15-14-11-9 | 36.0 | 87.5 | 1 520 | EFRTEEE (%)
10 8 R—F—H~— 55.0 () o) |TEWT
L:xXfF BT TF1vIINY H—L—+ T vIN> . T7—LBERS
Coasa g BEHEAD . —6—10~ FIINAR (Eil)
1 4| EX¥>yO—1u— [B] o4 A55/.0L (21.121/.3 6-6-10-9 | 36.4 | 85.7 | 11 12(7)? gaarj%?g
L:Fhv=x71228 BiL—2NnNT7UrT b
“ N > R—1# 142, -9-14- . . KiIRE#BZ (FR)
12 7| @YehvY—45— > 7 e 2(432)1 10-9-14-13 | 36.6 | 80.9 | 13 (410) iR
LI INATA—H— B:YYHhYF—Fy K 7975 TT—L4
N PN # 5 | BERAAR 2:42.2 12-12-11-15( 36.9 | 80.1 | 9 486 | FIILBA (%)
13112 2/ >7%0> [B] 7156.0 /4) Cia) | 8 57552
R:F4 =427 b B:v3x—~NZ— VAL T =L
= LS 4 5 | BREA 2:42.5 3-4-8-9 |37.5| 77.9 | 12 | 440 |BEB— (k)
14510/ 7 774 =7 5.0 (1172 (o | ® *rayrrr-n
R:/GTUZXN B:7zI3IF> J—HTr—LA
. . > s e A . —14-16- RaZE (EH)
sl 11| kFr7rre—2 (B] > 7| B 2.&33.4 14-14-16-16| 37.6 | 69.6 | 16 %)2 kel
L4 7=ILEY By KyO0—-2a [ a=bie]
i S 44 | ABEZFN 2:43.5 1-1-2-3 | 39.6 | 71.7 | 15 458 | BATE (GE)
EHH TJIWV—THT 57.0 (3/4) ) SFEANA—LF (TR (&)
R:TF14—=TA42N7 b B4 b2 R=—0 INHISH T 7 — L
@ 71 L
) 48.3-36.7
NA>Z2A4 L | 13.1-12.1-12.2-12.3-12.6-13.0-12.7-12.7-11.6-11.6-11.9-12.3-12.5
® I —F—@EBIERL
13=3F= 11,12(10,13)-9(4,14) (16,6)7,15(3,2)-1,8-5
2=I=F— 11,12-13,10,9(4,14)16(7,6)15(3,2) (1,8)-5
Fol=5r= (11,%12)-13(14,6)9-16(10,15)4(3,2,8)7,5,1
43—75+— | 12-13(11,6) (9,14)16,15(10,4,8)3(7,5) 2-1
[ N3
B O 9 430M 714K 9-14 1,230H e E 5-7 1,990 RPEL:] 9-12-14 9,080
18 B 9 1909 9-12 930M B = 9-14 3,180M K31 9-14-12 37,9504
14 350 12-14 1,870 | | B B 9-14 5,070
12 260M

ABRICOVTHRTEEERROODE, THEB LS,




